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Name:

Homework 06-05

Questions 1 through 4 refer to the following: A 3) The pair of triangles below have two
corresponding parts marked as congruent.

What is the congruence correspondence, if any, that will

prove the given triangles congruent? N M
By
D AT o
A) SAS SSA What additional information is needed for
B) AAS D) none
an AAS congruence correspondence?
A) ZA=/0
A B) NA = MO
-
29 C) LO=4N
A) SAS ASA D) zA=sM
B) AAS D) none

Cyg In the accompanying diagram, RLLIP,

LR L RT, and M is the midpoint of TP.
D 3
L P

A) AAS C) SAS
B) SSA D) none
M
By T R
i i Which method could be used to prove
A) SAS C) ASA ATMR = APML?
B) AAS D) none A) HL=HL
B) SAS =SAS
C) AAS=AAS
D) SSS =8SS

A 7) Which condition does #not prove that two
triangles are congruent?

A) SSA =SSA
B) SSS = SSS

C) SAS =SAS
D) ASA =ASA
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Please rip out the regents
practice questions and staple
them to the back of your quiz
and turn into the folder!

Do you use an agenda?
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8)  Supply the missing reason(s) for the given proof.

STATEMENTS REASONS
(1) FG L DE ~|(1) given
G is midpoint of DE.
(2) DG = GE (2) A ptis a midpt iff it —s a sgmt into 2 ~ sgmts.
(3) DGF and LEGF are [(3) 2 lines are ], iff they intersect to form rt. <'s.
D G E right angles.
Given: ﬁs 1 E_)_E ‘ (4) .DGF = LEGF (4) All rt <'s are ~
f‘f E_Em'dpf"”‘ (5)FG = FG (5) Reflexive
‘ 6) ADFG = AEFG 6 ~
Prove: aADFG = AEFG ©) ©) 5AS = 5AS
S
9) Statements Reasons
1. 30 bisects 2P5R | 1. Given
Q iP=4R
P R 2. SQ = SQ 2. Reflexive
Given: SQbisects ZPSR - 3 <pSQ ~ 3. A ray bisects an < iff it divides it
LP=sR <RSQ into 2 congruent <'s.
Prove: APQS = ARQS 4. APQS = ARQS 4. AAS =~ AAS
B
10) Statements Reasons
) @ 1 A__C X 61’1‘6”
A D c Ai; BC 8 o
Q¥ADB - +LCHB [P 2linegae.l ; ’y
Given: BD 1 AC avAtKs. iﬂ""‘w ','Gl#ﬂ"'l/'#{ 3
AB=BC . .
3. Mbﬁ‘ACﬂ 3.4 Dis gt O
Prove: AABD = ACBD o -\j D's. H. hﬂa /.A} «
~
SAARD =o0@ |5 HL> HL
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Lesson 6: Corresponding Parts of Congruent Triangles are Congruent (CPCTC)

Warm up: Which pairs of triangles can be proven congruent using HL? Are there
any other methods that will work?

@ D 4 5
NN
RUZHL

Recall that when two triangles are congruent, ALL of their corresponding sides are congruent
and ALL of their corresponding angles are congruent. Thus, to prove that two line segments
are congruent or two angles are congruent....

es that contain ents or the angles that %e to be profed congruent.
Prove the cho con t
2 A of congruent
Ex1 ‘
o
\

A2 @) Qluew

L nd 2 Feelmave

> Y ADZTD “'C?CTQ



Day 06-06.notebook December 07, 2017

Ex 2: Given: CA = CBand 4D = BD
Prove: /A= /B

C

Ex3: Given: AD = ABand /1= /2
Prove: CB =CD

D C
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Ex 5: Given: AB and C. E
ove: /C= /D =
«
G
E
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Proving Congruent Triangles
More Examples

Complete a formal proof for each of the following.

F s midpdntof BD, |
| Given: ABCDEandFCGCismidpdntof BD, /\
A= 1 C D

Prove: ABFC = ADGC A B o /.1 (3
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3. Given: In AABC, CD is a median to AB,
CE = CF, EA =TB.
Prove: AACD = ABCD

5!

December 07, 2017
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4. Given: MS is Lbis.of LP,RM=0M, Za= /b
Prove: ARLM = AQPM

December 07, 2017
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